
INSPECT YOUR PRODUCT FOR DAMAGE & MISSING 
PARTS BEFORE PROCEEDING TO INSTALLATION 

PROCEDURE FOR RETURNS OR MISSING HARDWARE 
-PLEASE CONTACT THE ORIGINAL POINT OF PURCHASE FOR:

SHIPPING DAMAGE, RETURNS, OR WARRANTY CLAIMS

-CONTACT DEE ZEE DIRECTLY FOR MISSING PARTS OR HARDWARE

Operating, servicing, and maintaining a passenger vehicle can expose you to chemicals such as lead,  
phthalates, engine exhaust, and carbon monoxide that are known to the State of California cause cancer 

and birth defects or other reproductive harm. To minimize exposure, service your vehicle and its  
accessories in a well-vented area and wear gloves or wash your hands frequently. 



Tool Boxes 

Thank you for choosing Dee Zee to add function and accessorize your vehicle. Dee Zee has been a staple 

brand in the truck accessory market since 1977 and we hold a reputation of quality manufacturing 

based in America’s Heartland. Our products are born through careful engineering and backed by industry 

leading warranty programs. We appreciate the opportunity to serve you and your vehicle! 

Review the instruction pages in their entirety to prepare the required tools 

Warning: Please check for wiring or other obstructions before drilling any holes in the vehicle. If it is necessary to drill 

any holes, Dee Zee recommends putting a sealant or rust inhibitory around all holes drilled into the body of the vehicle. 

It is the sole responsibility of the vehicle owner to check for tire clearance. It is unlawful and dangerous to ride on any 

external vehicle step while the vehicle is in motion. 

Cleaning: To be entitled to all warranty rights offered with the product, Dee Zee steps need to be cleaned regularly with 

a mild detergent. Do NOT use abrasive cleaners. For stainless steel products, the application of a high grade automotive 

wax is recommended. 



Page 1 of 6 

DZ 6534JWTB 

4 Door Wide Jeep Box Installation Instructions 
DZ 6534JWTB JK 2007-2018 JL 2018-Current

Required tools 

 

3/8” Washer 

4 Door Wide Jeep Box 

X2 

C B A 

D M8 Knob 

X1 

E F 3/8” Button Head Bolt

X1 

JK Driver Bracket 

X1 DZ 6534JWTB B 2636P 

BR100-KNOB 

Bracket 

B 2637P 

M6 Washer
G 

M6 Knob 

IH 3/8” Lock Nut 

J 
M6 Socket Head Bolt 

K
Spacer 

X3 

X2 PN 113B PN 124 

PN 265B PN 520 PN 895 

PN 1032B PN 1060 

X2 

X2 X2 X1 

X1 

9/16” 
Torx 40 
Torx 30

Allen Wrench 
5mm 
7/32” 

Straight Blade 

Screwdriver 

Utility Knife 



Page 2 of 6 

DZ 6534JWTB 

First remove the tie downs shown below using a T30, and remove the driver side seat 

bracket nut. 

First pry up on the plastic covers of the tie downs shown below. Then remove tie downs 

using a T40. 

1

J

K

1

J

L

Pry up 

here 

Driver Side Seat bracket nut 
JK ONLY 

JL ONLY 



Page 3 of 6 

DZ 6534JWTB 

Install bracket (C) in the passenger front tie down location using bolt (J), washer (G), 

and spacer (K). Arrow depicts which way the rear hatch is. Do not fully tighten hardware 

at this time. 

 

Install Brackets (C) in the two front tie down locations using the original bolt and spacer 

(K). Arrow depicts which way the rear hatch is. Do not fully tighten hardware at this 

time. 

 
 

2

J

K

2

J

L

C 

Original 

bolt 

C 

K K 

Driver Front Passenger Front 

Original 

bolt 

G 

K 

C 

J 
JK ONLY 

JL ONLY 



Page 4 of 6 

DZ 6534JWTB 

If you have the factory floor mat in the rear storage area you will need to cut it in the 

driver front area then Install Bracket (B) through the floor mat and onto the stud on top 

of the seat bracket and reinstall nut. 

Install box (A) using bolts (F), washers (E), and nuts (H). Place the box between the 

brackets then install the bolt (F) through the bracket and box then install washer (E) and 

nut (H) on the inside of the box. Fully tighten the bolts that attach the box to the 

brackets. Do not tighten the brackets to the Jeep. 

4 

3

J

K

E H 

F 

A 

B 

JK ONLY 



Page 5 of 6 

DZ 6534JWTB 

Install the Knob into the rear tie down location through the box. Refer to the picture 

below for which slot to use. Then install the M8 Knob (D) and spacer (K) for the JL or if 

you have a JK use M6 Knob (I) and spacer (K). 

Fully tighten the brackets to the Jeep in the front tie down locations by removing the 

knob and lifting up the box. Any extra brackets or hardware may be discarded.  

5 

6 

JK 

JL 

K 

D or I 



If access is needed to the under storage or additional room is needed in the cargo area, 

Fold down the rear seats, then remove the knob, and rotate the box vertically. Below is 

a side view of the box mounted and when the box is rotated vertically. 

7 

Fully Mounted 

Rotated up 

Remove 

Knob 

Rotate 

up 

Leave 

Spacer 

View other car organizers made by Dee Zee on our website.

https://www.carid.com/car-organizers.html
https://www.carid.com/dee-zee/



